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arirosa Jl.T 0,60( 0,600 0,60(
'eBepuoBa T r 2,50( 2,500 2,50(

A.A 2,50( 2,500 2,50(
llurina O C 0,20( 0,200 0,20(
Sasiaa lO.B 2,50( 2,50( 2,50(

fyrr A.B. 0,60( 0,60( 0,60(
ApreMeHKo H.r[ 0,1 9( 0,t9( 0,1 9(
llpyaaqx B.M. 0,22C 0,22( 0,22C

Caepyx B.C. 2,50C 2,50( 2,50(
Apreuexro H.fl. 0,60c 0,60( 0,60(
Kyriu F.O. 0,20c 0.20c 0,200
6osmp H.B 0,28C 0,28( 0,280
Ipoex M.O. 2,500 2,50( 2,500

Heaix K B 1,300 I,300 1,300

x O.B. 0,190 0,t90 0,t9(
T I,B 0,20( 0,200 0,20(
Xa6iryaira O.A 2,50( 2,50( 2,50(

o o.r 0,19( 0,19( 0,t 9(

ro 0,60( 0,60( 0,60(

!o6pierrx € f. 2,50( 2,50( 2,50(

{ycrorxixa M.A 0,22( 0,22( 0,22a

fapacrcx H.B 1,69( 1,69( 1.69C

lpoxonexxo C.F. 0,19( 0,1 9( 0 lgc
\4uukeBxc C B. 0,90( 0,90( 0,90c

A 8.I1, 0,19( 0.19( 0,r9c
lorory6 H.O 0,t 9( 0,t 9( 0,1 9(

(HL 0,t9c 0,t9c 0,1 90

6iryrexxo B B. 0,19c 0,1 9c 0,t90
Jlorsrx O.K 2,50C 2,50C 2.50u

9ypraosa A.A 2,50C 2,50C 2.500

Tporxcsxa C.l 0,22A 0,22C 0,22A

o A.r. 0,60( 0,60( 0,600

l-yp"caa O.O 0,500 0,50( 0,50(
(noHoBuosa C.M 2,500 2,500 2,50(

'lepxexro B.O 0, r9( 0,t 90 0,1 9(
Vrxa O.l-. 0,19( 0,t 9( 0,1 9(
?enerxro A.M 0,09( 0,09( 0.09c

rcxixa H M 0,60( 0,60( 0,600

Baffos B.l( 0,50( 0,50( 0.500

{epenrxa O A 0,19( 0,19( 0,1 90

lle6eaeaa M.l. 0,22C 0,22C 0,220

Boiiresxo.f P. I.00c I,00( 1.00(

flonoa O I 0,t9c 0,t9( 0.1 9(
qepenrHa O.A 0,1 9c 0,t 9c 0,1 9(

Bepra€Ba 3 M. 0,19c 0,19c 0,t9(
Mssa O I- 2,500 2,500 2,50(

lruarsesa H A o.220 0,220 0.22

Ipou6ar B.M. 0,220 0.220 0,22

A6paM B.M 0.le0l 0,190 0,t9(
Tperrx M.O. I.oool l.oool ,00(
Ka l.B. 2.sool 2.5ool 2,50(

ParqeHXo JLI o.6ool o.6ool 0,60(

fioraneHxo e r, o.r eol o.teol 0,t9(
E,B o.lool o.lool 0,to(

Vd6Hxx B.O. o, I 90l o. r eol O,I9C

H,I o, I 901 o. I eol 0,t9c
loc OI o. I eol o, r 90l 0,19c

B.B o, I 90l o.rqol 0,t9c

N,T o,t eol 0.1 qol
0,t9(

3ancilbcLxa P.r. o, I ool o, r o0l 0,t00

OJI 0, I 90l o. I eol 0,t9(

lormBueBa H M 2,5oOl 2.5ool 2,50(

BM. o,t90l o.r eol 0.t90

floranexxo €.-f 2.5001 4el 2.500
'sennri C.D. o. I eol !t2ei 0,t90

Pyaa H.l. o. I eol erzel 0.19r:

naputrKypa K.[O o. I eol o. I eol 0.t 9(

)epe3eHL



KocrxHa K.A. 0,t9( 0,19c 0,19(

Ipsrr M.O. 0,60( 0,60c 0,60(

Kyueaxou H.M. 0,10( 0,10( 0,10(

UIreOax T.O. 0,1 90 0,19( 0,t 90

Kynru P.M 0,190 0,19( 0,190

c.B. 2,50C 2,50( 2,500

Tparx M.O 0,70( 0,700 0,70c

OAA 0,10( 0, l0c 0,10c

MueHxo K.C. 2,500 2,50( ?,50(

c B.M 0,1 90 0,19( 0.t9t

OM 2,50C 2,50(

aAO 0,1 9c 0,19( 0,19(

Jlxor 3 f 0,1 9c 0,1 90
0,t9(

AC 0,19( 0,1 9c
0,1 90

forrap T.B. 0,19( 0,19c
0, t9c

Corr B.B 2,50( 2,50( 2,50i

KHcnrx B.M. 2,50( 2,50(
7 50t

Kprurur M.O. 0,190 0,19(
0.t 90

B,I 0,19C 0,19(
0,1 90

H,B 0,1 9( 0,1 90
0,1 9c

o.M. 0,60( 0,600
0,60c

c.rc. 2,50( 2,50C

Beaepxixoea O A t,000 I 00( I,00(

Iopxyr T.B 2,500 2,50(
2,50(

{aiixo A.O. 2,500 2,50(
2,50(

H.B 1,00c 1,000
I,00(

Ilaryroscsxa O.n 2,50( 2,500
2,500

H,B 0,19( 0,t 9c
0.t 90

1800 (IHui norocxi
]trmrKH) 0,1

2282 (OKpeMi axoaH no

puiuuii lepxaorrx
(perionuuxnx) nporPau, xe

siaHeceHi ao SxoriB
posBsrxy) 4,

2273 (Onmra

enerrpoeHeprii) 0.,

2240 (Onnara nocnyr xptM

xoMyHuhHrx) 0,(

2710 (MarepiuEHe

s6gneqerxr m ouiutni
nooyrH.) 9,3

Baaroaiixufi

foxl"Mapxeronr'

Cu6asoa porsNx

a/ix.5xr/ua no2

ur.Nrl0(5'2) r aun. E,l

3u6mr pourx
r/ix.5Mr/Mn n02

ua.Nel 0(5t2) r aun 8,3

Saaroqiinufi
doHA"MapKeronl"

@exmrir polrxu

,diB.0,05Mr/Mn no 2

Mn.N95 B aMn. 4l

Oeamxil polsur
dix.0,05ur/ur no 2

Mn.N95 B aMn. I

SnaroAiirrfi

ioHA"MapKqonr"

Kewir-3H poarxx

a/is.50 ur/ua no 2 vl
Ngl0 B aMn. 0,1

(mMiH-3H po3qxH

r/is.50 vr/ur no 2 ua

l[910 s aMtr. 0,

reiregu TM 0,19( 0,t 9( O,I 9C

loA3HHcrxa 0,600 0,60(
0,60t

lonoqai r.C 2.50C 2,500
2,50(

tc 2,50C 2,500
2,50(

s lO.M 0,25( 0,250
0.250

O,A, 0,28( 0,28C
0,280

MaxapoBa 3.O. 0,60( 0,60c
0,600

Axapiexxo O.O. 0,22(
0,22(

Py6ax O.B. 2,50( 2,50(
2,50(

T.O I,OOC 1,00(
I .000

o.r 1.00c I,00( t,000

lo.B. 0,30( 0,300
0.30c

Txaqeuxo M.C. 0,50( 0,50c
0,50c

I_puuaxixa O.<D. 0,28( 0,28C
0,28(

rlrxosa M.K 2,s00 2,50(
2,50(

luHoxyp A. 0,430 0,43(
0,43(

(pyrsxo,rl.[. 0,50c 0,500
0.50(

I,00( t,00c
I.00(

fBn3aux T.H. 0,22( 0,22C
0,220
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282 (Ouearrue

ueponpurrrru paaatur)

a/ir.0,05ur/ua no 2

Mn.N95 E aMn.

KmMiH-3H po3qnH

a,/in.50 ur/ur no 2 ua
Nel0 I aMn.

Kmuix-3H po:vrn
/ix.50 ur/ur no 2 ua
Ngl 0 B aMn.
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